11 Chemistry Conversion Practice Problems

Example

13 inches is how many yards?
Given:
12 inches = 1 foot

3 feet = 1 yard
Unit plan:

Inches ( feet ( yards

13 inches  x   1 foot     x      1 yard     
= 0.36 yard


12 inches 
3 feet
1. A ruler is 12.0 inches long. How long is it (A) in cm?(B) in meters? 
( 1 inch is 2.54 cm) 

2. Another measuring system has different units of measure.

 6 ft = 1 fathom 

100 fathoms = 1 cable length

10 cable lengths = 1 nautical mile

3 nautical miles = 1 league
Jules Verne wrote a book 20,000 leagues under the sea. How far is this in feet?
3. A car is travelling at 60 miles per hour. Express this speed in kilometers per hour (km).
    (1 mi = 1.609 km)
h

